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WUT-37 / SECTION-A

Question numbers 1 to 4 carry one mark each.
1

! A rectangle and a parallelogram are on same base and between same parallels. If height of
rallelogram is 4 cm and length of base of rectangle is 8 cm, find the area of parallelogram.

2 Find the length of the longest iron rod that can be placed in a room 30 m long, 1

2t mbroad and 1232 1 high.

I fhe
the mean of the observations X, x +®.« +5, x @ +10is 9, find their median 1

4 /lm’ the mode of the data ‘O)(
.z.,s,I\,‘};,ze,?.é S :

TAUZ-F / SECTION-B

Question numbers 5 to 10 carry two marks each.

. 2
Two circles intersect at two points B and C. Through B, two line segments ABD and PBQ are

5

drawn to intersect the circles at A, D and P, Q respectively as shown in the figure. Prove that
ZACP=£QCD.

lt
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7 \AFS %
Al \ 0\ .
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N\

N

o Dy . : i
AWy acte (II\,‘J:\, Name ax | Y7 Risect it using Copass

\ 2
"3 S qus sy -=‘.'1“.‘\
In the “}.'““.' P amd Q are Il\hlvpnll\ln af the sides AB and AC respactive v of AAL &1 Also »
! g : - uvelv.
and I’ are mid - paointy ot Al and AQ TEPEIRER
{ \
DE = ~\1 o then ind the fength of BC,
n,'\ \
rs \0
/ \
n* «
~ s 12 :
If the circumforence of the base of a solid right circular cone is 230 em and its slant heightis 12
\ v Findd s curved suface area,
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X

DNA die i thrown 100 times and the outeomes are recorded as tollows
Oulconse 1 2 A 1 5 0
_l’ll'tllu'my 25 12118115 10

L

20
I the die s thiown once again, what is the probability of getting :
(") even number,

(h) prime number,

L]

7 \ e AL > 5, =
heck whether - can be an empirical probability or not. Give Reasons.

WUY-| [/ SECTION-C

Question numbers 11 to 18 carry three marks each,

‘n

[ i ' 1S OXC M ~omes 3. Find the
The mean of 10 numbers is 55, 1t one number is excluded, their mean bocomes ¢

oxcluded number,

1

; g o - s of a class in a chemistry examination 3
N The following table shows the marks scored by students ot a class in a chemistry ¢ <

(max. marks 35) ) — .
’m 0-7 7-14 14-21 21-28 | 28-35 W
OF | 4 8 12 l 2 N

13.MNOP is a ligm, Q is any point on diagonal PN. Show that ar(AMNQ) = ar(QON)

P Q

M N

14. The circle passing through the vertices A,B and C of a llgm ANCD intersect side CD at a point P Shown in fig. Prove
that <APD = <ADP

A

15. Construct a right triangle in which one side is 4 cm and sum of other side and hypotenuse is 6.5 cm. write steps
of construction

16.AXYZ is right angled at Y. P and Q are midpoint of side XY and XZ resp. If XY =9cm and PQ =6 cm. Find the length
of XZ.
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) ; 3
n the piven figure, PORS is a parallelogram in which diagonals PR and SQ intersect each
other at O Show that ar (ASOR) = ar (APOQ).

3

the radius and height of a cylinder are in the ratio 5: 7. If its volume is 4400 cm?, find the 3
adius ot the eylinder,

TUE-T / SECTION-D
Question numbers 19 to 28 carry four marks each.

tths 0f 70 leaves of a plant are measured in millimetres and the data is represented in - 4

awing table :

f N800 (127135 1 13614 [ 145153 [ 154162 | 163-171 | 172-180

12 15 18 7 5 1

rsent the given data. Is it correct to conclude that maximum number
? Why ?

[ to 517 which meets 'Q produced at X,
that at(MQRST) = ar(ASXY).

b e e PO G penitagion T lu.h.mvnwm""

‘Q\ Vi parallel o s pwets PO produced ac . Show
.
'

~ ircle s § } = > P 3 tl‘ t a
CL 20 1 e yiven ganes 1 s any point on the chord BC of a circle such that AB= AP, Prove tha

Cl= 00 I BAE = S0 il = COM and BRQ.

\\
!
- it 4 ‘R 75" s12em, . !
22 Constinnda APQROInwhich Q= 607, SR 75 and sum of the three sides |
' id - points onsecutive sides of any 4
i Show that o quadiitateral formed by joining the mid p()lnlh/yf-y\, :
duatiilateral tsa parallalogram. ; /,*_
5 4
: ? -al penholders of radius 3.5 cm
3 The students of o school decided to make and sell 2(!()()[1’);lludrhi.;:liq;::':::\ A s hiaing
| « minister’s '
mate the collected amount to Prime '
and Beight 10 o, and donate th g e el Wi 5 g
he people of Uttarakland, The school supported thea !
cirdboand tor making pea holders. '
(a) Flow mnch vardboard was required ? _ "
€ i ge = —
\ (M What value s depicted inthis work ? (U > )

http://jsuniltutorial.weebly.com Page 3



JSUNIL TUTORIAL

i i i t. This 4
| ? 3 g filled with wheat. )
i ith base diameter 36 c 1 . : ot
St A2 om hh%‘l ane . l l‘ lh‘x h‘nu'ht ()f‘ e CO ¢

o i Il‘l‘\‘ ‘l“( (5] S -al l "’i-‘ifﬂﬂ“t(, :
of e y‘““ 1 {on the )’l’(llll\ll and o conical hes I (o

€ .
P bt dn enprtied

- ““ ““““ﬁ o “' h“““ ! l .
in \ (R "“t‘ hl lp‘l “ “' lh‘ 1 ﬂ!'
'

. Lo @
s ratio 4 @ 3. The volume of the cone is 269-2- cm?,
M s and height of a cone are in thega
whia A

R

At curved surface area,

‘ " 1 U k] ‘e O [t} I(’ 11§} 'ht ”() mm U'lat can bC fl"(.‘d a
d "‘ﬂ ‘“"" " l\' “y""lll“l “‘ ’Jl“ﬂ"l H "ll llh“l“l T cm ag l }-,
‘““ (L] h'(ll“ a t ylinl'ﬂi (|| ves ‘\.'l'l ot \ deQ ‘Ila("ete'
. » . . ol - v e ) t(' a hely 13 (" J-.: cm.
‘vﬂl‘ “‘Hl “I( Vierahe l ‘5 “u( l' v "h ’"! i “' l‘ “,,
| '

28 A recent survey found that the ages of workers in z factory is distTrted 25 folloves <
| Ages |20-29 [30-39 [40-49 [90-% &  =na
in years) \ ‘| l v zbove
| No. of\38 | 27 | 86 e i3
Workers ' {
W a person is selected at random, find the probabilisy that the 2gzof person is:
(i) 40 years or more

(11) under 40 years
(i) 40-49 years
(iv)  under 60 but over 33 years.

FTT-T [ SECTION-E
Open Text)
(* Please ensure that open text of the given theme iy supplisd with this guestion Paper.)

Theme : Childhood Obesity in India

29 3
BMI is a person's weight in kilograms divided by the square of height in meters. Suppose
Aman's BMI is 24 and height is 165 cm. Take x 25 weizht write a linear scuation and calculate
his weights. Express it in one variable graphical form

30 Reena realized that she is getting overweight so she Planmed 2 phvsical regime for hersel 3
She wa i 3 e 3 GG foe
ndLs to burn 300 kxlc'x.?_}‘ggesa%\ a %3. S?:e chooses jogging -..:5:?. fhome acovities for the
same and plans to spend 't in mrz.% *“ 'h' minutes for home aTovines. Wrze the linsar
€quation for the same and draw the graph
N '\pmonmkazmcaxmiesina ; ;
; pasty, he eass 'y nd ¥ samosa Write 3 bnear 2
t-quatxonim!hesamanddrawthegnph Pismss and ¥ emona Wnite i
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